
Math 213   Homework 7  Spring 2014 

 

 

 

1. Verify the conclusions of the Green’s Theorem, both in the circulation‐curl form and in the flux‐

divergence form, for the vector field    21, xF r
 

, and the region enclosed between the 

curves 
2y x x  and  y x .  Start by sketching the region of integration. 

Green’s Theorem, circulation‐curl (tangential) form:  
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Green’s Theorem, flux‐divergence (normal) form:   
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2. Verify the conclusions of the Stokes Theorem for the vector field    20, ,x zF r
 

 and the 

part of the surface 
21z x y   enclosed in the first octant, with the normal oriented away 

from the origin. Start by sketching this surface. 

 

Stokes Theorem:  
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3. Verify the conclusions of the Divergence Theorem for the volume enclosed by the surface 
2 2 4z x y    above the x‐y plane, for the vector field    , , 1x y z F r

 
. Start by 

sketching the volume of integration. 

 

Divergence Theorem: 
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